616/Chem. 22-23/51410 d) What is Absolute errors and Relative errors?

B.Sc. Semester-V Examination, 2022-23 AT @GR A T 2

What is th d off val f 80/70 t
CHEMISTRY [Programme] e) at is the round off value o up to

four decimal places?
Course ID : 51410 Course Code : UGP/CHEM/504/SEC-3 .
Course Title : IT Skill for Chemists 80/70 =1 BT (8) el kel 21 7T 1 =

Time : 2 Hours Full Marks - 40 f)  What is the difference between Low level
language and High level language?

The figures in the right-hand margin indicate marks.
@ (FCee 8 FB (FIeH FHHES @F W&y A1y

Candidates are required to give their answers in

their own words as far as practicable. Gl
wFERel-elg AR Are S R | g) Write down the SI unit of R (universal gas
IR TUPTEd e SRR Sed wre 5[ | constant).
1. Answer any five of the following questions: KGR A e SI 435 62
2x5=10 h)  Find the value of i'°.
@I Aolo dosw Ted 7wl - i@z = e 3|
a) If log,(x+1)+log,5=3, then what is the 2. Answer any four of the following questions:
value of x? 5x4=20
@~ B 2o Ted wie
R log,,(x +1)+1log,,5=3 T, OIZGET x-49 T
e 41 a) 1) Find the roots of the equation
3 F3 2 )
b) What is the full form of BIOS? 37 - 2/6x +2=0.
BIOS-93 [t 1% 2 3x = 24/6x +2 =0 AT Aaref e

Rl
¢)  Simplify : (Inx’+Iny* +Inz*) - , .
i1)  Write down the general equation of a

A FCE ¢ (lnx2 +Iny? +1nzz) straight line. 3+2
G0 AFAEAR A AN @2 |

[Turn Over] 616/Chem. (2)



b)

d)

616/Chem.

Draw the graph of the function 2x—5y = 0, and
show that slope of the line and its intercept.
5

2x-5y = 0~93 FHfbal o&a F9 @R @1Lbrad
qfe @ (gveics bizre |

1) If B:_L(B_V) . Then deduce the
T

VP

dimension of f3.
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ii) Find %(e“"‘). 3+2
i(e"‘x)u‘]a i el 541
™ : 2

What is standard deviation ? Find the standard

deviation for the following numbers.

0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85
2+3

awie fRprfs qetee F @RIy Faffie Akl emd
fapfe e =11

0.60, 0.62, 0.55, 0.67, 0.68, 0.72, 0.85
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iii)

XZ y2 dy
2 42 -
If —+i-=1, find .
2 2
d
e —+2-=1 =3, e Y g 5w foefy
a~ b dx

4|

How do you write the algebraic
expression b? - 4ac in BASIC expression?
2+3

b? - 4ac, 92 AEafdfes AR FreiE
BASIC sTHRICe S (2

Convert 225 and (0.36) , into binary

number.

225 @<k (0.36),, (F AR AR A
<4

Convert 11111 into decimal number

iz e 11111 & (O 72T ke
P9

Add the binary numbers 11010 and
10111. 2+1+2

11010 @32 10111 -93 w36 ARE A=
@erre ey 39

(4)



3. Answer any one of the following question:

10x1=10

@@ QFH A Ted 7S :

a) 1)
11)
iii)
616/Chem.

Find the solution using Trapezoidal rule:

Gifeafeae o&fo ARE TN 79

X f(x)

0.0 1.0000
0.1 0.9975
0.2 0.9900
0.3 0.9776
0.4 0.8604

Simplify 3x(4x—5)+3 and find its values

for x = 3.
X = 3-99 G 3x(4x—5)+3-499 AL |

Find the value of the polynomial
5x— 4x* + 3 at

(i) x = 0 (i) x = -1 (i) x = 2
4+3+3=10

5x— 4x2 + 3 @ 3 AfEtmEta e Wofw
PJ|

(i) x = 0 (ii) x = -1 (iii) x = 2 @7 @7 |
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iii)

Write down the full form of LOGO, DOS,
ALU.

LOGO, DOS, ALU-43 ¢l woiafel @74 |

If f(x) = ax*+bx+2, and f(1)=3, f(4)=42,
then find a and b.

gfw f(x) = ax?+bx+2 T @3k f(1)=3,
f(4)= 42 =7, Oz a @ b ¥ T [efa 1

Find the solution using Simpson's 1/3rd

rule:

e 1/3 oo AR AN 9

3+3+4=10

(6)



